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OB t==2t| 810,350 ~4CH 3,242
OZ0IF | 9,752,380 *20H 19,505
O&=E=| 4,180,000 =4CH 16,720
OA==8| 4,405,660 *3CH 13,217
O& IR 0| 11,089,400 »3CH 33,179
OEHI& I (E) 12,326,200 »1CH 12,327
ElHI& ) 23,526,360 *2CH 47,053
Ol 1,419,000 *2CH 2,838
o017l 23,965, 7102 =504 119,829
Oorgl 26,400,000 +5CH 132,000
O3ute! 53,051,940 +5CH 265,260
OXFF=A 0| B E ]
14,740,000 = 10CH 147,400
SBIIA =2l=cl 130,000 130,000
206 M=l 130,000 130,000
01 M=4l 130,000 130,000
Os2IH =2 & Weus F3 120,000
OZ2IIF2 S A0S
50,0002 %2,400& 120,000




2A: sYIIsdE X2I1=
Ha: =X )|E
&elr sPIHZHEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0= 238 ¥ UDE =AW=
20,0002 %5008 10,000
SENUEAIG S 142,600 283,200 140,600
= 71,300
= 31,318
Al 39,982
sz d2us X2 45,000 52,000 A7,000
= 22,500
[ 11,250
Al 11,250
101 @124H| 18,022 17,140 882
= 9,011
== 4,505
Al 4,506
M ORNZZ2NSE S 18,022 17,140 882
Os9Ilz A2NR 2% oY
76,9603 x 1B 262U +8F 16,008
= 8,004
s 4,002
Al 4,002
OJIZtHIZ2Z2 X HE FIH]
200,000 112 200
= 100
== 50
Al 50
OJIZHZ2X BES(ASENREZ) 1,814
(OFaksi--t=y=3 16,208,000 *3.495% 567
= 284
< 141
Al 142
OFINYEE=R 567,000& %12.27% 70
= b
< 18
Al 17
Oo=gg=s 16,208,000& *4. 5% 730
= 365
& 182
Al 183
OnE=s 16,208,000 *1.75% 284
= 142
S Il
Al Il
O4ti=Ee 16,208,000 * 1% 163
= 81




M sSII=HH XI2D1&
T SYXAII
Ol SEXSAIYEA (12l M2
H - B8 S9l(30) - NRAY - BAS ol b e HlmS2
= 41
Al 41
201 L2 | 26,978 34,860 AT,882
= 13,489
= 6,745
Al 6,744
01 AtR2eltl 26,978 34,860 AT7,882
sl M2Us LAE(13) 3,540
ol 230,0002 6 H * 1Al 2F 1,380
= 690
= 345
Al 345
O=Jt 120,0002 <6 H *3A[ 2¢ 2,160
= 1,080
= 540
Al 540
Ol M2uUE LA (23) 2,520
ol 120,0002 6 H * 1Al 2F 720
= 360
& 180
Al 180
O=Jt 100,000 6 H+3A 2t 1,800
= 900
& 450
Al 450
O=Yll= MZus WM M=
12,0003 *1, 7005 20,400
= 10,200
& 5,100
Al 5,100
Ol MU 8 ME
70,0002 *60H 420
= 210
& 105
Al 105
Osdls M2UR AMRES 2L
98,000 *12| 98
= 49
& 25
Al 24
NEeZ3RH NS 14,800 46,100 A31,300
= 7,400
& 2,543
Al 4,857
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2A: sYIIsdE X2I1=
L) (ESIE
TP SERSAIYEA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,600
=S 1,144
Al 1,456
01 2K 5,200 6,000 A800
OsZISEANSEESNE
5,200,000 5,200
= 2,600
= 1,144
Al 1,456
S8 st usEg XNE 1,600 1,600 0
= 800
Al 800
307 glztol & 1,600 1,600 0
= 800
Al 800
02 2B HAIAE & 1,600 1,600 0
SENEA 2dN=
1,600,000 *10H 2 1,600
= 800
Al 800
A0l Zd=E MY 45,000 90,000 245,000
= 22,500
= 11,250
Al 11,250
307 @I2t01 & 45,000 90,000 /45,000
= 22,500
= 11,250
Al 11,250
02 2IZHBYAIHE & 45,000 90,000 /45,000
OFE=RI0l AR HT AR
50,000,000 *17H 2=*90f% 45,000
= 22,500
= 11,250
Al 11,250
Aol FgNHE42ALE 9,600 9,600 0
= 4,800
Al 4,800
201 fer=3| 9,600 9,600 0
= 4,800
Al 4,800
01 At22t2lH] 9,600 9,600 0
OHEER0 HAACHEM HEE AALY
(1=) 5,310
ooz 230,000 *3Z *1A| 2tx33] 2,070




M sSII=HH XI2D1&
B =oi%|0|E
ol SEXISAIQIEHA (69 =)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 1,035
Al 1,035
OFot 120,000 *x3H *3A| 233 3,240
= 1,620
Al 1,620
OXESA0 AANTHZA ALE BASY
(23) 3,780
ol 120,0002 x3H * 1 A| 2++33] 1,080
= 540
Al 540
OFot 100,000 33 Al 2+*33] 2,700
= 1,350
Al 1,350
OHE=0l FHACHEA ALE DA
& 25,5003 *20 2 +13] 510
= 255
Al 255
LA 018 It IS 2,100 4,500 22,400
= 1,050
= 525
Al 525
201 L2 AH| 1,100 2,200 21,100
= 550
& 275
Al 275
01 At 22|l 1,100 2,200 21,100
OCh&Lst 22 88 s ZAE 1,100
023 1,100
-2 120,000& *1Z*53] 600
= 300
= 150
Al 150
-t 100,000& *1H+53| 500
= 250
= 125
Al 125
206 =8l 1,000 2,300 21,300
= 500
= 250
Al 250
01 =l 1,000 2,300 A1,300
OCtet 22l &8 WE M=l
200,000& %53 1,000
= 500




2A: sYIIsdE X2I1=
M =oiXe)|E
TP SERSAIYEA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 250
Al 250
I SEARUF 18,000 12,000 6.000
= 9,000
< 4,320
Al 4,680
201 er23| 12,840 1,800 11,040
= 6,420
== 3,082
Al 3,338
01 At22t2lt] 12,840 1,800 11,040
O 4R us LS| 1,320
oxg= 60,000 +6E 360
= 180
== 87
Al 93
Oetd gt 60,000 +6E 360
= 180
== 87
Al 93
Oogset=s 100,000 «6& 600
= 300
== 144
Al 156
O AR uUSs HA+E 2,520
Oodgt 25 2,520
-JE 120,000 1Al 2H+62] 720
= 360
= 172
Al 188
-0t 10,0002 %3 A1 2+462] 1,800
= 900
= 432
Al 468
Os2IIH ELRUS W M=
30,000& 3005 9,000
= 4,500
= 2,160
Al 2,340
206 MH=H| 5,160 10,200 A\5,040
= 2,580
= 1,238
Al 1,342




2A: sYIIsdE X2I1=
L) (ESIE
TP SERSAIYEA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 5,160 10,200 A\5,040
O 4R us Mt
17,2003 +300& 5,160
= 2,580
< 1,238
Al 1,342
sZl=Xa it 404,000 365,720 38,280
= 137,200
Al 266,800
SENTAIY 253K 257,500 205,400 52,100
= 77,250
Al 180,250
201 fer=3| 128,600 131,000 2,400
== 38,580
Al 90,020
01 At22t2lt] 128,600 131,000 A2,400
Otz sE82X X&
120,000& 9374 2 11,160
= 3,348
Al 7,812
O=gelttll sYAEX X (sZelal2)
60,0002 %1,070% 64,200
=S 19,260
Al 44,940
Ot sHEEX X2 (4HAE)
30,000 *800 24,000
= 7,200
Al 16,800
O=gelttll sPMEX X(sHRIAR)
84,0002 x110% 9,240
=S 2,772
Al 6,468
OMdli=gel Agns 2AEE(12) 4,130
oJl= 230,000 x7 S * 1Al 2t 1,610
== 483
Al 1,127
O=Jt 120,000& »72|*3A1 2t 2,520
=S 756
Al 1,764
OMllsgel 4SWs Wi M
12,0002 %1,300% 15,600
= 4,680
Al 10,920
OMdllsgel A8uUF AIRES 78
270,0002 %12 270




2A: sYIIsdE X2I1=
L) ESIE
ool SIS XIA=A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 81
Al 189
206 M=l 30,000 30,000 0
= 9,000
Al 21,000
01 M=4l 30,000 30,000 0
OsINA =32l U= XY WS
200,000& %1505 30,000
== 9,000
Al 21,000
307 lztol & 8,000 8,000 0
= 2,400
Al 5,600
02 2B YAIAE & 8,000 8,000 0
OsYUQISELH AYUS S
8,000,000 * 17 2 8,000
S 2,400
Al 5,600
308 AHXIHMSO0IA 40,500 0 40,500
[ 12,150
Al 28,350
1 S| 2SS X AS AR 40,500 0 40,500
ONE=R xNHSET UE 2g
2,250,000 18Y 40,500
= 12,150
Al 28,350
402 2IZtA=01A 50,400 36,400 14,000
=S 16,120
Al 35,280
02 RIENESASEZ(0IETHR) 50,400 36,400 14,000
OAERI0l B SAS GIEMA X2
22,000,000 *1IH 2=x70f% 15,400
< 4,620
Al 10,780
OSstASE RIIXIEA K
50,000,000 17 2=%7(f% 35,000
= 10,500
Al 24,500
SETHEEA} MII=sES 66,500 80,320 213,820
[ 19,950
Al 46,550
201 Ler23 | 46,500 46,320 180
= 13,950
Al 32,550




2N SIISME KRS D
MM SiX|@)|E

ool SIS XIA=A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 46,500 46,320 180
O=E04 BRI NEF A
60,0003 +775% 46,500
= 13,950
Al 32,550
307 @12t0| & 10,000 10,000 0
== 3,000
Al 7,000
02 LB HAHE L 10,000 10,000 0
OSENENEK SN N
10,000,000 * 1904 10,000
= 3,000
Al 7,000
402 2IZtA=01d 10,000 24,000 14,000
= 3,000
Al 7,000
02 RIENZASEZ(0IETHR) 10,000 24,000 14,000
Os&0d =78 g s&e | N3
10,000,000 * 10 2 10,000
< 3,000
Al 7,000
SE H24 SXAE AH(HEAY) 50,000 50,000 0
= 25,000
Al 25,000
402 2IZtA=01d 50,000 50,000 0
= 25,000
Al 25,000
02 QI XHE AL E R (01X THE) 50,000 50,000 0
OsE& 028 SXNAE Al
50,000,000 *1IH 2 50,000
< 25,000
Al 25,000
SYHES AHNAID 0l MEBSHIEAIY) 30,000 30,000 0
= 15,000
Al 15,000
402 2I2FX+=01 & 30,000 30,000 0
= 15,000
Al 15,000
02 RIENZASEZ (01 THR) 30,000 30,000 0
O=gas AEAL Mg 425
30,000,000 *1IH 2 30,000
== 15,000
Al 15,000
AH2IBHI(NAD &) 2,430,659 2,587,233 A156,574




2A: sYIIsdE X2I1=
M HYRAZHI(NAIIEL)
s IEE2g 3| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
el 2,308,873 2,466,155 157,282
el 24| 2,308,873 2,466,155 157,282
101 @124H| 2,088,290 2,222,226 133,936
01 2= 319,214 311,175 8,039
OAIZtel 22+¢
11,1303 +76E*30A| 2+ 123 304,517
OEAUAT EL2DHE
87,4803 7 24 14,697
02 JIEtM = 4,058 3,994 64
OAZLTREY (HARE)
11,2728 x18x30A1 2H+ 123 4,058
03 BRH(RIH )22 U2+ 1,765,018 1,907,057 A142,039
O=sFH 21| 1,765,018
odgs 1,235,889
-Jt= 158Xt 2,940,850 x15EF «12& 529,353
-Lig 84&Xt 2,440,930 x21E 12 615,115
-Ch= 138Xt 2,539,470 x3H 123 91,421
O=g 360,617
-EsE 24,960
i< Xt 40,0003 x26E «12& 12,480
JIEDIE 40,0002 x26EH « 12 12,480
-ARERIZ224E(0HS)
20,5303+ 15 *10A[ 2+ 123 36,954
-ARERIZ2E(US)
17,2903 x21B*10Al 2t 128 43,571
-AIRERIZ2R4E(TS)
17,9402 3 *10A1 2t 123 6,459
-SL22+2012)
13,6902 #150%* 158 *8A| 2H+24 & 59,141
X (0012) 109,520 x 15«20 32,856
-Gixt=E(LI2) 92,2403 x21F 20 3,741
-GiXt=E(CH2) 95,6803 x3& »20 5,741
—252g012) 147,0403x15%x 122 26,468
2&=E(L3) 122,040 x218 128 30,755
=2&5+=(03) 126,9703 32~ 123 4,571
-dedeg 50,0002 x30E «12& 23,400
-grE g 100,000 x3% = 122 3,600
Srgfsd 50,0002 x39 ~ 122 23,400
OZH=AHI 140,000 x390E « 128 65,520
OEE=It| 102,992
-ta 1,470,420 %1523 44,113
-Us 1,220,4603 x21E 23 51,260
U= 1,269,730 x3E <22 7,619
WM HsFEE=S 220,583 212,729 7,8%4




2A: sYIIsdE X2I1=
M SH A (R
s IEE2g 3| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
4 R (RIHA)22N BEESRES S 220,583 51,365 169,218
ORVAHA2 2 X 282 MXSHHEES 220,583
o=z 1,974,085,0002 *4. 5% 88,834
(OFafe gt 1= 1,974,085,000& +3.495% 68,99%
OIWILESE 68,995,000& *12.27% 8,466
OnE:s 1,974,085,000& %1.75% 34,547
O4tEe 1,974,085,000& * 1% 19,741
=38l 121,786 121,078 708
Jl=23H] 121,786 121,078 708
201 fet= 3| 46,796 46,088 708
01 AtR2te|H] 46,796 46,088 708
OJ|=gR=+8 &sZHI(OI=3H])
500,000 22 11,000
o=gHI(01=2Hl)
8,0003 x22H 8 x 12 16,8%
ogA| 60,0002 x22H*116 13,920
O=Z (=) 20,0003 249! 4,980
202 04| 59,200 59,200
01 =LHOLI 25,600 25,600
OXI2D1&8 1 2UoBI(DIEZH)
20,0002 +82 52 % 128 9,600
o220l 80,0002 22 52 +203] 16,000
02 21201 33,600 33,600 0
OXIHIIE T FHOIHI (I ZZH)
200,000 x14H 123 33,600
203 =4l 15,790 15,790
01 D122 HARFA| 6,000 6,000
OJIEAU(42) 6,000,000 6,000
02 FRItAA =AY 4,570 4,570 0
OJ|=H 4,570
O100& Olot 40,0002 x100H 4,000
(O101~400& 30,0002 %19 570
M FA2ELRFAI 5,220 5,220 0
OJ|=H 5,220
O30& Olst 400,000 123 4,800
O30d =1t 5,000 7 * 122 420
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FA slI=dH JI=2s
3 sYlIs=2=

el FodgEYHT (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2SI =22 410,404 324,249 86,155
101 @124H| 14,464 13,579 885
M ORNZZE2NSE S 14,464 13,579 885
O&NA=E 22X 2E 22Y 14,464
ooy 82,1003 1H 26262 12,808
Og &SIl 200,000 x1H =13 200
O=gig= 13,007,600 4. 5% 586
(@Faksi--t=y=3 13,007,600 *3.495% 455
OFIIRYEE= 454,620 *12.27% 56
(@NIE=out = 13,007,600 *1.75% 228
OttEe 13,007,600 * 1% 131
201 el 4,500 3,900 600
01 At2telt] 3,000 2,400 600
OJI=2SAY SEIE u
15,0003 * 100 1,500
OJl==2sAY SEEIE HSSRE
500,000 *3CH 1,500
02 s3=gHl 1,500 1,500 0
OUstHESIITI KL=
100,000 55 500
OZII=F2d Ul Al
200,000 +55 1,000
206 MH=H| 4,000 3,000 1,000
01 M=4l 4,000 3,000 1,000
ORIIZ2d 2= 100,000 405 4,000
301 EtE NS 800 800
11 ALEIXIES 800 800
OJI=EsSAY SEIE 4T sS4
8,000& 100 800
307 elztol & 114,640 54,340 60,300
02 2B YAIHE & 70,000 9,700 60,300
O==52 ST Al
50,000,000 *17H 2= %70f% 35,000
Od0&E E2Ed e JlesEs AlY
20,000,000 *2IH 2=x7(f% 28,000
OAMEJ0 Z3hE s 25 Al
10,000,000 17 2%70% 7,000
04 CIZHHAMALRH 2 & 44,640 44,640 0
OJ0IZ0F MAl & HAKIRA
13,950, 0002 44 2 +80% 44,640
402 2I2F X201 & 267,400 242,200 25,200
01 RIENSASE X (XM THR) 267,400 242,200 25,200
OO0lcHE AM OHE 28 &4 Al
30,000,000 *6IH 2=x7(f% 126,000




2M: JIEHH D2
RZH j|Au:
crel: OJO;”/\HD:!D:JIH 23} (2l ®R)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OJI&THoH CHS AlE b= AMAE AY
10,000,000 50 2~ *70% 35,000
OO0I&DI4a THE AETHA A434A S Al
30,000,000 *27H 2~ +70% 42,000
OO0IADIZ HE 1NF AHHMA AlY
15,000,000 *1JH A #70% 10,500
ODZ 43 TYBA o Al
10,000,000 *1JH 2 *70% 7,000
OAIER0 dAS HE 4 AlY
17,000, 0002 * 120 25 *70% 11,900
OUIAE AZ(E) & MY
10,000, 000 x50 2~ *70% 35,000
405 KHHFSH| 4,600 6,430 21,830
01 ML =ZFSHI 4,600 6,430 21,830
OFUE HITY ZE==FI|(Dt= 55)
4,600,0002 *1CH 4,600
MBI HSA2AUG] 235,651 208,090 27,561
FMEA) =23 225,651 198,090 27,561
101 2124l 13,351 12,690 661
M IIRHMZ2Z2XSE+ 13,351 12,690 661
OsdtE 29 0IUAKCOR 89 28 13,351
ool 76,9602 1H+x26 2L +6H 12,006
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2,510,000& 20 A #2353 10,040
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eelr A01EX (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oolld=a R4 EJ1880I
420,000 #20H 2-+32 2,520
Olld=4 28 MESE 7Y
600,000& *2JH 2-*42] 4,800
FISLAM A=A 22|
4,800 4815 2,309
OLNH0IMES ZHA M
970&+15,000& 14,550
ORs0ld= A M=
4003 *37,000% 14,800
O=MME AF 042 HEDS 22 4,800
Ous 2% WM M
14,0003 200 2,800
ONT 2% A28E 72
10,0002 x20& x102] 2,000
O=Mde A JIME HEUS BAE 2,200
OJl=(ees) 120,000 x1 Al 2Hx102] 1,200
O=nHees) 100,000& 1Al 2+ 102 1,000
02 S3=4gl 102,029 96,022 6,007
Olld=4 ANEEBI=AbI
1,500, 000& *302] 45,000
OLEDIMSY 2E MIIMNER(MHEDNY
A) 27,383
oJlZes 8, 3203 *Q0kw+ 12 8,986
(OFSPIVN=d= 853 18, 036kw+ 123 18,397
onld=sd 24 |FFRUI(ZR)
1,830 *9002 | E1* 182 29,646
206 M=l 284,500 255,000 29,500
01 M= H| 284,500 255,000 29,500
Olld=4 28 M=Hl
330& +800,0002 £ 264,000
OZ2=zgctd 28 Mzt
550@+30,0002 & 16,500
OosMdE A Jld= HEgus MHaH
20,0002 x20 %102 4,000
402 BIZtAH=01 A 7,000 7,000
01 QIZIXH2 AL 2 (KM TH ) 7,000 7,000
OS24t 22 ANEMa NSE & AlY
5,000,000 *29H 2 +70% 7,000
405 KHoHF S| 168,290 2,500 185,790
01 ML ESFSHI 158,290 2,500 155,790
olld=4 =4 168,290
Oxelt 1,000,000 2CH 2,000
OM&II 850,000 ~2CH 1,700
OdH&E(300¢4 0I3t) 650,000 *1CH 650
(OI=PIE=E~ D) 860,000 *2IH 2= +2CH 3,440




M sSII=6EH A0
Hu: ol
Cel: ARJI=KIA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OAIRESHA(ARX) 200,000 &+ 1K 200
OMIEQXHARAL) 300,000 & *1JHK 300
O0lM=Z ArSZAD|
150,000,000 *1CH 150,000
Hel2sKE 1,502,926 1,357,057 145,869
= 48,300
| 9,500
& 219,328
Al 1,225,798
SEXNSIIBES (X012 380,000 0 380,000
& 190,000
Al 190,000
405 XHebE S| 380,000 0 380,000
T 190,000
Al 190,000
01 XML =EFSHI 380,000 0 380,000
o= &Y + 380,000,000& 380,000
= 190,000
Al 190,000
SRS (HA) 39,200 37,900 1,300
= 19,600
T 9,016
Al 10,584
201 Ler23H| 12,000 6,100 5,900
= 6,000
T 2,760
Al 3,240
01 A=R2teld| 10,000 4,100 5,900
OZHAFY 2% Yy
100,000& 1008 10,000
= 5,000
T 2,300
Al 2,700
2 S=29| 2,000 2,000 0
OZeZTA S32ZH|
500,000& x4E 2,000
= 1,000
T 460
Al 540
202 44| 1,400 1,400 0
= 700
T 322
Al 378
01 =LHOdH] 1,400 1,400 0
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OZE=HA 2 NH24F
100,000& »7 & »23] 1,400
= 700
< 322
Al 378
206 M=l 25,800 8,000 17,800
= 12,900
[ 5,934
Al 6,966
01 M=4l 25,800 8,000 17,800
OZEARA 29 U2
322,500 805 25,800
= 12,900
< 5,934
Al 6,966
SAAESH E22AHI 9,500 0 9,500
Jl 9,500
206 M=l 9,500 0 9,500
Jl 9,500
01 MZH| 9,500 0 9,500
OELEA M=H| 500,0002 %195 9,500
Jl 9,500
IEER Bk =3 39,400 39,400 0
= 19,700
[ 9,062
Al 10,638
101 @124H| 19,454 20,400 A946
= 9,721
[ 4,474
Al 5,253
M ORNZZ2NSE S 19,454 20,400 2946
OJtEER dXe & 24 BX 2Ry 19,454
OJIZNZ2 X 212
83, 1503« 1H+26 2«82 17,29
= 8,648
< 3,978
Al 4,670
OgESItd| 200,000 x 113 200
= 100
< 46
Al 54
Oo=gig=s 17,495,200 *4 . 5% 788
= 3%
== 182
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3 AN
&t Hel2skE (EEEE))

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

OHLEE= 17,495,200 +3.495% 612

n oW
w
S

>
3

OFINRAEEE 611,400&%12.27% 76

M3
8

=
8

OLEEE 17,495,2002%1.75% 307

n
3

>
®

OutHEE 17,495,200 * 1% 175

n W
&

=

47

201 L= 5,000 5,000 0
2,500
1,150
1,350

hoH

=

01 AFR2t2ltl 5,000 5,000 0

100,000& *505 5,000
2,500
1,150
1,350

hoH

=

206 =4I 14,946 14,000 946
7,473
3,438
4,035

o

=

01 =4l 14,946 14,000 946

249, 1003 +605 14,946
7,473
3,438
Al 4,035

o

sStE tdd 2A4A 2 609, 159 380,991 228,168

101 e124d| 38,903 37,135 1,768

MU OIIRNZZ2NSES 38,903 37,135 1,768
q

OsttE ety 244 25 012 38,903

83, 1503 x2 B x26 L +8F 34,591
OZEFIHl 200,000 »2H*13] 400
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ORFSARHM 29 ME
900, 0002 +805 72,000
OINERLEHY 29 N2
290,000 x505 14,500
O JIE & 24AME
300,000 x155 4,500
405 AHaHE = 360,300 104,300 246,000
01 It =S F=H 360,300 104,300 246,000
OsF= MEEX 24,200,000& *1SET 24,200
(OFSES3= BN =P 2,400, 0002 «3CH 7,200
(O] 66,000,000 = 1CH 66,000
OEY, =2 2oEXl
66,000,000 »1CH 66,000
OF0IE 0l2 24D 7,800,00024* 1SET 7,800
OFS Ph/EC/EN ZE))|
4,100,000 »1SET 4,100
OREZZEEctE0H(IP) 22
175,000,000 = 1SET 175,000
HeHsASE 29 45,653 43,782 1,871
101 @124H| 32,263 30,782 1,481
M OIRIMZZ2NSE S 32,263 30,782 1,481
ONSIISAUSE 2 JIUM22 A 28,844
OJIZtMZ22 Xt 12y
83, 1502 x2H 26 L6 25,943
Oo=gig=z 25,942,800 4. 5% 1,168
(@Faksi--t=y=3 25,942,800 *3.495% 907
OFINYEE=R 06,7003 *12.27% 12
O1nE=2d 25,942,8002 *1.75% 454
O4tHEE 25,942,800 * 1% 260
ONSIISHUSE 2 THAIZ JIZEHIZ22 A 3,419
OHAIZZR 212
83, 1503 x4~ 10! 3,326
O1nE=2d 3,326,0002 *1.75% 59
O4tHEE 3,326,000 1% A
201 2= 3,090 3,000 0
01 At22telt] 3,090 3,000 0
OLStASAZE 2F AR2e/
103,000& 305 3,090
206 M=l 10,300 10,000 300
01 MZH| 10,300 10,000 300
OUsIEd=sasSE 28 M
206,000 *505 10,300
golls e =29 7,000 7,000
201 et 3| 2,000 2,000
01 At22t2l] 2,000 2,000
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OHilE ATl 2F NREBE
100,000& 205 2,000
206 M=l 5,000 5,000
01 M=4l 5,000 5,000
Odgolis At 2 M
200,000 255 5,000
AU A 2 (=H]) 18,000 0 18,000
= 9,000
= 4,500
Al 4,500
206 T2l 18,000 0 18,000
2 9,000
= 4,500
Al 4,500
01 b 18,000 0 18,000
OZHMLA 29 W2
600,000 305 18,000
= 9,000
= 4,500
Al 4,500
XA 2Y 175,814 230,284 N54,470
101 21AH| 60,089 34,398 25,691
04 JIZtN2Z2 XS 2+ 60,089 34,398 25,691
OO0t fFE LIS 2 54 2FY 60,089
OJIZtMZ2Z2 X LA (D)
83, 1502 x5 Hx26 2 +5F 54,048
Oo=gg=s 54,047 ,500& *4. 5% 2,433
OAHBEE = 54,047,500& *3.495% 1,889
OFIIRYEE= 1,888,970 %12.27% 232
OnE:d 54,047,500 *1.75% 946
O4tiEe 54,047,500 * 1% 541
201 er2 3| 64,225 60,286 3,939
01 AtR2t2|HI 11,800 10,783 1,017
OXAEd B2E ARES
95,0003 +205 1,900
OXANtes 2 Y=
90,0002 +8& 720
O 2 Nat
60,0002 8% 480
OXAMEd 28 det=
100,000& +8 800
OxH L 2 A=HI(LPAIIL)
2,000 x950kg 1,900
OZApd =t HolE el
660,000 +3& 1,980
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OODlcHa 2FO0HHI0l WSAte SXtg
450,000 +42] 1,800
= 900
Al 900
206 M=l 2,700 3,000 A300
== 1,350
Al 1,350
01 MHZHI 2,700 3,000 A300
OODlcHa 2FO03HHI0l = ASHE
18,0002 x50 & *32 2,700
S 1,350
Al 1,350
301 LEtE N = 1,440 1,600 A160
= 720
Al 720
11 #AIAHIXIE S 1,440 1,600 A160
O0lcHaty 2F0HHI0I ws sS4
, 2002 x50 +42] 1,440
S 720
Al 720
oSN 2d3t 165,700 59,700 106,000
201 er23 | 32,500 17,500 15,000
01 At2teltl 6,500 1,500 5,000
O=2F7d 228 ALR2cl|
100,000& %155 1,500
OB =0| ASE 2E AIR28I
50,0002 1005 5,000
02 S52g4l 1,000 1,000 0
O=&d+4 UK Al
250,000& 42 1,000
03 A= SHI 25,000 15,000 10,000
ORENEZ HA L 29
12,500,000& »23] 25,000
206 M=H| 22,200 7,200 15,000
01 M=8l 22,200 7,200 15,000
272 29 M=
120,0003*605 7,200
OB =0l A=Y 28 M=
300,000& 505 15,000
307 el2to| & 28,000 14,000 14,000
02 2IZHBYAIHE A 28,000 14,000 14,000
OMEZE A&t HES JIEH Al
20,000,000& *2IH 2=x7(f% 28,000
401 AIEHIZ SR 0HYI 15,000 15,000
01 Al&HI 15,000 15,000
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Hu: ol

el Eelz2sid (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OWIZ0| AR AlZH]
15,000,000 *10H 2~ 15,000
402 2IZtA=01d 52,500 21,000 31,500
01 QI XHZ AL E (KM THE) 52,500 21,000 31,500
OUl=YRl 2EA=FIIE 24 AlE
15,000, 0002 *5H 2 +70% 52,500
405 KHaHE SH 15,500 0 15,500
01 TR ESFH SHI 15,500 0 15,500
O=Fd+4 JEY dtg)|
5,500,000 = 1CH 5,500
OB =0| AIEE dH D]
10,000, 0002 1CH 10,000
SMENSLEFY 937,793 1,719,437 AT781,644
= 220,000
= 42,700
Al 675,093
tDI=E8 M 190,000 0 190,000
= 95,000
Al 95,000
402 2I2F X201 & 190,000 0 190,000
= 95,000
Al 95,000
02 RIINEASEZ(0IETHR) 190,000 0 190,000
OER0l & 42 RS Jle A
120,000,000 * 104 2~ 120,000
= 60,000
Al 60,000
OsAE HEIIE 433 J= AY
70,000,000 *1IH 2 70,000
= 35,000
Al 35,000
SHE ASHE JigtEyd 250,000 250,000 0
= 125,000
Al 125,000
201 er23| 30,000 18,000 12,000
= 15,000
Al 15,000
01 At2teltl 30,000 18,000 12,000
OsttE &43He clgdd 82X 29
20,000,000 20,000
= 10,000
Al 10,000
OsttE &3MHE s I 7L
100,000 * 1005 10,000
= 5,000
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SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Al 5,000
401 AlEHIZL L 0HH] 60,000 60,000 0
= 30,000
Al 30,000
01 Al&HI 60,000 60,000 0
OHSBME MAE3 Al B2t
20,000,000 * 10 2 20,000
= 10,000
Al 10,000
O=AS AZHY THCIXY HLa XA
20,000,000& * 10 2~ 20,000
= 10,000
Al 10,000
OZ2KI1& AHIXF MEEHIOIA X4
20,000,000 * 10 2 20,000
= 10,000
Al 10,000
405 KHaHE S H| 160,000 172,000 A 12,000
= 80,000
Al 80,000
01 ML Z2EFSH| 160,000 172,000 A 12,000
OEECIXIQ WY bl 7Y
5,000,000&+x6= 30,000
= 15,000
Al 15,000
02937 AEEH P
5,000,000& 6= 30,000
= 15,000
Al 15,000
OBIEN AFASIY 7
3,000,000& %105 30,000
= 15,000
Al 15,000
ONE FUAT HH NAY 25
3,000,000&*10= 30,000
= 15,000
Al 15,000
OSAE JIBAE Ty A8 7Y
4,000,000&*105 40,000
= 20,000
Al 20,000
SEME 3G M= B3 59,000 82,500 A23,500
& 17,700
Al 41,300
101 2124d| 4,786 4,786
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ol SA2IlRAYRA (ool )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 1,436
Al 3,350
M I1RHNZ2Z2XSEs 4,786 0 4,786
O=s4E I8l &2 A4F3 S8 Azt
=2 Xt 4,786
OHAIZIZZX} 2182
83, 1502 x 1 +7 U +8E 4,657
& 1,397
Al 3,260
(@NE=3=)= 4,657,000& *1.75% 82
T 25
Al 57
O&TES 4,657,000 * 1% 47
& 14
Al 33
201 LBH2AL| 27,464 10,000 17,464
= 8,239
Al 19,225
01 AtR2elt] 27,464 10,000 17,464
O=42 JI3J|1= 88 433 J|=01d8 1
S 2ASL 9,400
OoJle(genaz) 230,000& * 1Al 2++203] 4,600
& 1,380
Al 3,220
O=1H(YEHZ) 120,000 *2A1 21203 4,800
T 1,440
Al 3,360
O=4&2 JIE80|= 828 435 2E= M
5,814,000& 5,814
& 1,744
Al 4,070
O=sAE JI3AY 20tE &0z JI=X
A LAY 9,250
OJl=(deHaz) 230,000 *1AlI2H52] 1,150
= 345
Al 805
OZF1H(LEHZ) 120,000 *3A| 2t+53] 1,800
& 540
Al 1,260
OoJlz(gers) 120,0002 1Al 2t 153 1,800
T 540
Al 1,260
OZF1HLerR3) 100,000& *3A| 2tx153] 4,500
& 1,350
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Al 3,150
OsAS JIEAIE 202 S&E0HZ DICIo
ZE= WA 3,000,000& 3,000
< 900
Al 2,100
206 M=l 12,750 0 12,750
= 3,825
Al 8,925
01 M=4l 12,750 0 12,750
OsdE I8 28 433 X M|
200,000 505 10,000
s 3,000
Al 7,000
OSAE JIBAIY 20k BEZ JI2X
2 =4 50,0002 %555 2,750
= 825
Al 1,925
307 gl2to| & 14,000 24,500 10,500
= 4,200
Al 9,800
02 QB AANEE R 14,000 24,500 210,500
OsES=EMY ASE DDIE XY
20,000,000 *1IH 2=x7(f% 14,000
[ 4,200
Al 9,800
SO JISAIEE AIEEH] HEXI (HEANY) 50,000 50,000 0
= 25,000
Al 25,000
402 2IZtA=01d 50,000 50,000 0
S 25,000
Al 25,000
02 RIENZASEZ(0IETHR) 50,000 50,000 0
O=gol JISAEE Al2&Hl i
50,000,000 *1IH 2 50,000
[ 25,000
Al 25,000
s4tE I8 2 JlsX3a 29 308,083 254,812 53,271
101 @124H| 67,923 55,701 12,222
M IIRINZENSES 67,923 55,701 12,222
OsUSIBI =22 JI2HH 224 58,353
OJIZtMZ22 Xt 12y
83, 1502 «3H 26 L 8 51,886
OEE=IH| 200,000 *x3H*13] 600
O=g=) 2852 5,867
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206 M=l 14,000 14,000
01 M=4l 14,000 14,000
ogd IRsgY MEgus HEH|
35,0002 x20E *5 I 2 x4 3] 14,000
402 BIZtAH=01 A 28,000 28,000
01 QI X2 AL E A (KHMITHE) 28,000 28,000
OXFsd |4 AE
20,000,000 *27H 2= %7(f% 28,000




2A: sPIsUEH T2
B CASASY
el TAlsYEd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAsE S2Eote 15,000 26,500 A11,500
201 er23 | 11,800 22,500 210,700
03 ALY 11,800 22,500 210,700
OxAN=g SeEital
11,800,000& *12] 11,800
301 EtE NS 3,200 4,000 A800
11 #AIAHIXIE S 3,200 4,000 A800
OT A= E8EIIE HAT A
8,000 400 3,200
SENE 2SR (HEAIY) 110,000 80,000 30,000
S 71,500
Al 38,500
201 Ler23| 41,250 0 41,250
= 26,812
Al 14,438
01 AtR2t2|HI 41,250 0 41,250
OsZH0lsE g2dst HgZz21d 29
ZAE 37,500
(OPE=S 120,000 * 1Al 2k%1253] 15,000
[ 9,750
Al 5,250
O=u 100,000& * 1Al 2+*1253] 12,500
= 8,125
Al 4,375
OEXZA 40,0002 #2A1 2H+1253] 10,000
s 6,500
Al 3,500
oM s=2= M& 750,000 x5 3,750
S 2,437
Al 1,313
206 M=l 68,750 0 68,750
= 44,688
Al 24,062
01 M=4l 68,750 0 68,750
OsZEH0lsE gdst HEgZ28 MHEdl
22,0002 x25EH %1252 68,750
== 44,688
Al 24,062
solaEA 2E XN 42,661 31,279 11,382
101 @124H| 26,361 14,029 12,332
M ORINZZE2NSE S 26,361 14,029 12,332
OLMs=olaga AREE JIH22
T DERHE) 26,361
OelAb| 85,0003 1 +26L 11 24,310
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2A: sPIsUEH T2
B CASASY
el TAlsYEd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-HAEE= 12,205, 7602 *3.495% 427
-HIIRLdEEE 426,600 *12.27% 53
-=23=s 12,205, 7602 4.50% 550
-UEEE 12,205,760 *1.75% 214
~SHEE 12,205,760 *1.00% 123
201 Ler23| 23,440 19,440 4,000
01 At2teltl 23,440 19,440 4,000
OXEMUII=UE & NXUs BA+E 440
oggrg 440
-Jl= 120,000 *1 Al 2H+23] 240
-=Jt 100,000& *1 Al 2Hx22] 200
O A=Y JMME WS BAE 4,000
oggrg 2,400
-Jl= 120,000 x 12 *1A| 2t+202] 2,400
OLES=UN 40,0002 ~2F 1Al 2++202] 1,600
OZAIAHIA s HEws Xt Xt
= 500,000 *202] 10,000
Ous =24 MNRES 7Y
100,000 x105+32] 3,000
OOt ZAlsY WS HA=E 6,000
Ooges 4,400
-JlE 120,0003 1 Al 2H+208] 2,400
=t 100,000& *1AI2++202] 2,000
O xZA 40,0003 *2A12++202] 1,600
206 M=l 26,000 18,000 8,000
01 MHZHI 26,000 18,000 8,000
OXEMUII= T & NtLI=s Mzl
10,0002 %300 23 6,000
O AISE 0K DS W)
10,0002 402 203 8,000
ORO0DI= TAISY DS W
20,0002 *30H 202 12,000
301 2eEN= 22,400 22,400
11 dALEEIXIRE S 22,400 22,400
OZAIAHIA sEE8E MEw=s M
20,0002 x40 202 16,000
OFAIAHIA s HEuWs SMEY
8,000&+40& »203] 6,400
dlrsgel JzEs)is s 31,000 31,000 0
= 15,500
= 7,750
Al 7,750
201 er2 3| 24,040 24,080 vy
= 12,020




2A: sPIsUEH T2
3 ZAsg=sd
el TAlsYEd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,010
Al 6.010
01 At2tltl 24,040 24,080 vy
OXAsHR JIZ T SA=E 11,760
oggrg 11,760
-JIZ2 120,000 1Al 2t 143]+20| 3,360
= 1,680
= 840
Al 840
=t 100,000 x3A12H+143]+2D| 8,400
= 4,200
= 2,100
Al 2,100
Otlr=sgel JIZWSF WA
40,0002 x40F+27| 3,200
= 1,600
= 800
Al 800
Otln=sgel JIZus Ut
500,000 *12]%2]| 1,000
= 500
= 250
Al 250
OtlAsge atus ZAE 4,630
ogeng 2,950
-JlE 230,000 1 Al 2H+53] 1,150
= 575
< 287
Al 288
-=Jt 120,0003 3 Al 2H+53] 1,800
= 900
== 450
Al 450
Oogels 1,680
-JlE 120,0003 1Al 2H+43] 480
= 240
== 120
Al 120
-=Jt 100,000 3 Al 2++43] 1,200
= 600
== 300
Al 300
Otln=sgel &atus WA
40,0002 x40 1,600
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2A: sPIsUEH T2
B CASASY
el TAlsYEd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 27,000
=S 13,500
Al 13,500
HsELELINA 24,000 58,800 A34,800
= 7,200
Al 16,800
201 er23| 8,000 18,800 10,800
= 2,400
Al 5,600
01 At2teltl 8,000 18,800 10,800
OM=sEY 243t EHLE WS
8,000,000& *12] 8,000
= 2,400
Al 5,600
307 212+01& 16,000 40,000 24,000
= 4,800
Al 11,200
02 LB HAHE L 16,000 40,000 A24,000
O7I=sZdEdstNA AE
8,000,000 +2JH 2= 16,000
= 4,800
Al 11,200
Srsgel 54 X3 70,000 0 70,000
307 @120l & 28,000 28,000
02 QB HANEE R 28,000 28,000
Otlnsge gs dg N2
20,000,000 *1IH 2=x70f% 14,000
OdlH=Rl =IOt B-liE JiX| &4 AlY
10,000, 0002 *29H 2 %70% 14,000
402 2IZtA=01d 42,000 42,000
01 QI X2 AL E (K THE) 42,000 42,000
Otlsgel e SatEs e Al
,000,000& #20H A +7 0% 42,000
sgolist =g A 29,500 33,000 A3,500
= 14,750
= 7,375
Al 7,375
201 fet= 3| 15,900 17,960 2,060
= 7,950
= 3,975
Al 3,975
01 AtR2telHl 15,900 17,960 2,060
Osgellist 28 SFAS NS
500,000& *12] 500




2A: sPIsUEH T2
B CASASY
el TAlsYEd EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 250
=S 125
Al 125
Osgellist 28 wsu M
50,0003 40 H 2% 4,000
= 2,000
s 1,000
Al 1,000
O=gollist 2 A+ 10,020
OogeHs 7,080
-Jl= 230,000 x 1Al 2k*123] 2,760
= 1,380
= 690
Al 690
=t 120,000& #3A1 2+ 123] 4,320
= 2,160
& 1,080
Al 1,080
odgrg 2,940
-Jl= 120,000 1Al k73] 840
= 420
= 210
Al 210
=t 100,000 *3 Al 2t73] 2,100
= 1,050
= 525
Al 525
Oosgeltist 28 228 7Y
680,000 680
= 340
= 170
Al 170
O=gollis SEHYLE LA (1) 700
OoJ1= 230,000 * 1Al 2«2 460
= 230
= 115
Al 115
O=Jt 120,000 * 1Al 22 240
= 120
S 60
Al 60
206 M=l 12,000 13,200 1,200
= 6,000
= 3,000




2A: sPIsUEH T2
B CASASY
el TAlsYEd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,000
01 M=4l 12,000 13,200 21,200
sgolis 29 M=ol
30,0002 x40 %102 12,000
= 6.000
= 3,000
Al 3,000
301 EetE NS 1,600 1,840 A240
= 800
= 400
Al 400
ITETTREE 1,600 1,840 240
OsYULIE 2 SABY
8,0002 x40 *23] 640
= 320
= 160
Al 160
OseIE SRUHUDS SAEA
,000& x120E12] 960
= 480
= 240
Al 240
sgus 29 57,097 51,878 5,219
101 21AH| 15,797 13,178 2,619
04 JIZtN2Z2XNSE+ 16,797 13,178 2,619
Osgeltist 29 JIZN22 At 16,797
OelAt| 76,9603 x 1B 262U+ 7 14,007
Og &SIl 200,000 x 1213 200
@ZIN L==h= Y= 1,590
=3RS 14,206, 7202 *4 . 5% 640
2ALLEHRE=2 14,206, 7202 *3.495% 497
-HIeLEE= 496,530 *12.27% 61
-IE2ERES 14,206, 7202 %1.75% 249
“MHEE = 14,206, 7202 * 1% 143
201 et 3| 35,220 31,220 4,000
01 At2t2l] 35,220 31,220 4,000
O=gollist 28 A+ 18,680
ogeng 9,440
-Jl= 230,000 *1 Al 2++83 200 A 3,680
=t 120,000 *3A| 2++83 20 2 5,760
Oogtes 9,240
-JlE 120,000 x 1Al 2kx112] %200 A 2,640
-=Jt 100,000 *3AI2H* 113|200 A 6,600
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S SIIEMEH SASYB
Hu: CAlSASH

el TAlsYEd EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 360
T 180
Al 180
Ox=1 100,000 =2 Al 2H62] 1,200
= 600
T 300
Al 300
206 =4l 3,000 5,000 A2,000
= 1,500
T 750
Al 750
01 M=zl 3,000 5,000 A2,000
OS==g0dH73 84 M=t
25,0003 *40F «33] 3,000
= 1,500
& 750
Al 750
301 LB F 3,200 3,200 0
= 1,600
& 800
Al 800
11 HAIAHIXIAZ 3,200 3,200 0
083043 4 W=x 2 39 =4
]l 8,000 40 * 103 3,200
= 1,600
& 800
Al 800
S0 ARG 178,360 104,760 73,600
201 B2 AY| 32,160 21,960 10,200
01 A=R2teld| 32,160 21,960 10,200
OZ5=g0lHRs| MZUF(012,48) &
Ar==&(23) 12,600
ooz 120,000 *1H *1A|2H<303] 3,600
OFot 100, 0002 *1Z*3AI 2tx303] 9,000
OF==deldFs 29 42828 ¢
300,000& =103 3,000
OZ==dols sfdus AX=R
500,000& *302! 15,000
OF==d0l+s 2Z/AAS =< 1,560
oPI= 100,000 x6H*23] 1,200
O=x=1t 30,0002 x6F 23| 360
206 =4l 20,000 10,000 10,000
01 =Yl 20,000 10,000 10,000
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2A: sPIsUEH T2
U CASARA
2o TAsgEsd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 60,200
307 gl2tol & 13,500 10,000 3,500
=S 4,050
Al 9,450
02 QB AANSEER 13,500 10,000 3,500
OsZEussd gd3t X2
13,500,000 * 104 2 13,500
< 4,050
Al 9,450
402 QIF X201 & 72,500 21,000 51,500
= 21,750
Al 50,750
02 PIIHZ AN 2 X (01T ) 72,500 21,000 51,500
Os=E23 HEss |4
30,000,000 *1IH 2=x70f% 21,000
== 6,300
Al 14,700
0% - s &4 ZY(Farmping) 2&
31,500,000 *10H 2~ 31,500
= 9,450
Al 22,050
Os&Meg=sd &8s N3
20,000,000 *1IH 2 20,000
== 6,000
Al 14,000
MII=ES A 2t 9,000 9,000 0
= 2,700
Al 6,300
201 er23| 2,400 2,400 0
= 720
Al 1,680
01 AtR2t2|HI 2,400 2,400 0
OdEAN 208 =2 JAsE 2,400
Oogtes 120,000& x1 Al 2% 152] 1,800
== 540
Al 1,260
OB xZA 40,000& 1Al 2+*152] 600
= 180
Al 420
206 MH=H| 6,600 6,600 0
=S 1,980
Al 4,620
01 M=4l 6,600 6,600 0




2A: sPIsUEH T2
B CASASY
el TAlsYEd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdER T2 =2 W=l
20,0003 x22H %153 6,600
= 1,980
Al 4,620
HE2AAH (sYIIsHE SASER) 48,644 46,938 1,706
=34 48,644 46,938 1,706
Jl=3H] 48,644 46,938 1,706
201 er23| 16,844 15,138 1,706
01 At2teltl 16,844 15,138 1,706
OJzdRsdes 3H(OIE3HI)
500,000 %13 6,500
OSEHI(OI=3H)
8,000 x 132+ * 12 9,984
OZRA(RIIHA) L= 360
OFAt2el0IeY M=
90,0003 x12H+25+13] 180
OAldsaeld &=
90,0002 x1H*2E5+13] 180
202 04| 28,800 28,800
01 =LHOLI 2,400 2,400
O=Uoidl(O1=34l)
20,0003 x2H 52«12 2,400
02 XN 26,400 26,400 0
OgEANHI(SHYER)
200,000& «4H*12& 9,600
OZHNHI(=AIsSR)
200,000 7 H* 122 16,800
203 gF=4| 3,000 3,000
M FA2HLRFAI 3,000 3,000
OJIEH(152! 0l3t) 250,000 122 3,000




